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Instructions

NEW Marking Scheme and Evaluation Format
Total marks for the examination: 70

Total time duration for the examination:
1 hour and 30 minutes

Breakup of questions:

SECTION I: OBJECTIVE

Duration: 1 hour

44 MCQ QUESTIONS: Each question bears 1 mark each,
there are 6 Leaf marked questions which bear 2 marks
each.

Total marks for SECTION | is 50

These 6 sub-heads for SECTION | are as follows:

Flora - Plant life; 9 questions including 1 Leaf question
Fauna - Animal life; 9 questions including 1 Leaf
question

Terra — Geography and environment ; 9 questions including
1 Leaf question

Aqua - Aquatic life and water bodies; 4 questions including
1 Leaf question

thinQ - Logical reasoning; 4 questions including 1 Leaf
question

Mixed Bag — General awareness on environment and natural
world; 9 questions including 1 Leaf question

All questions are multiple choice questions with four
options — A, B, C and D Mark the correct or most
appropriate answer in the OMR (answer) sheet.

Using a dark pencil or a dark-inked pen, colour the
correct option completely,
as shown on the OMR (answer) sheet.

SECTION II: SUBJECTIVE

Duration: 30 minutes
1 Picture Composition

Total marks for SECTION Il is 20

Turn over the OMR sheet provided to you and write in
the space provided.

You can attach an extra sheet signed by your invigilator
if you need more space.

You can only use a black pen to write the composition.
Both gel or ball point pens are allowed.



SECTION | Duration: 1 hour Marks: 50

9. Which of these is a flowering plant?
Seaweed

1. This tree genus was named after two brothers, the
Bauhin brothers. They were twins, both were botanists

and the tree was thus named because the leaves _
somewhat represent their relatedness. Which tree’s F
leaves? a‘ u n a‘

A) Pagoda tree B) Drumstick pod tree
C) Camel foot tree D) Banyan tree
10. Flying fox is a species of mammal that eats
2. Bananas are monocots or dicots? primarily of on fruits and distributes seeds all across
A) Monocots the landscape. They are found across the tropics and
B) Dicots mainland India has one species. What mammal?
C) Could be either, depending on which part of the world A) Rats B) Deer
it's found C) Bat D) Elephant

D) Neither, they are gymnosperms
11. Flying squirrels are species of squirrels found

3. During Holi, people in central India consume an across the tropical world. Why are they called so?
alcoholic drink made from the flowers of this tree, A) They have feathers that help them fly
Madhuca latifolia. What is the common/Hindi name of B) They have a flap of skin that’s helps them glide
this tree, also the name of the drink? C) They have a tail that guides them along
A) Toddy B) Arrack D) Their winged toes are sufficient to glide
C) Mahua D) Feni
12. They use small blades of grass to catch ants.
4. The most important commercial forests of India are Licking it, they insert the sticky blade into an ant
A) Tropical evergreen B) Tropical deciduous hill and collect all of them stuck to it. This and other
C) Coniferous D) Mangrove tool use has been documented primarily in this one
species of primate. Which one?
5. In a forest ecosystem, a specific species of bird eats A) Gibbon B) Marmoset
only from one type of plant. As a result of pollution, the C) Macaque D) Chimpanzee
plant species had a dramatic decrease in population.
Which of the following would most likely NOT be a 13. What do a kangaroo, an anteater and a seahorse
possible result? have in common?
A) The bird population would increase A) They lay eggs
B) The bird population would need to move to another B) They have pouch to carry young
area to find that plant C) They give birth to young animals
C) The bird population would decrease D) Male raise the young
D) The bird population would have to find a different food
source to survive , 14. Which of the senses is the weakest in almost all
” primates?
6. Plants usually grow where there is light. We see A) Smell B) Hear
leaves and branches growing wherever there is most C) See D) None of the above
light. What about plant roots?
A) They grow where there is maximum light . 15. Bharal, Takin, Goral, Chiru, Serow - these are
B) They need little light — not too muc h, not too little all ungulates found in one particular region of the
C) They grow where there is least light country. Which?
D) Light doesn’t matter to root growth A) Himalayas
B) Deccan Plateau
7. Some trees have no branches, simply a large trunk C) Western Ghats
followed by leaves. These leaves are very large, and D) Andaman and Nicobar Islands

have smaller leaves called leaflets attached to them,

that are long and pointed. Most of the species of the 16. Which of these cats DO NOT have retractable
family Arecaceae have such a structure. Based on claws?

this information, which of these is not an Arecaceae A) Pallas cat

member? B) Cheetah

A) Coconut B) Date palm C) Leopard

C) Oil palm D) Mango D) Jaguar

8. Tadpoles are like fish but they have the big head 17. Nocturnal animals are those active at night, while
and eyes that look like a frog. Slowly, they grow, lose diurnal animals are active during the day. What do you
their tail, develop legs and walk out on land as frogs. A call animals that are active during dawn and dusk?
similar series of events happens for butterflies. Which A) Crepuscular

of these is NOT one of the stages of a butterfly? B) Vernacular

A)Egg B) Moth C) Jugular

C) Caterpillar D) Pupa D) Spectacular



18. The young of some species of which animal
produce faeces contained inside a sac of mucus,
allowing the parents to easily remove the faeces from
the nest?

A) Cats B) Birds

C) Dogs D) Squirrel

27. Which salty sea is completely surrounded by
desert?

A) Ross Sea

B) Sargasso Sea

C) Red Sea

D) Barents Sea
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19. Which mountainous country has a flag that is not
a square but instead two triangles attached to one
another?

A) Bhutan B) Austria

C) Peru D) Nepal

20. The Chernobyl Disaster was a nuclear accident
which left thousands affected by radiation. This site
was never visited again and abandoned - today, the
area has some very good wildife such as wolves, elk
and foxes. In which present-day country is Chernobyl
located?

A) Uzbekistan
C) Kazakhstan

B) Ukraine
D) Mongolia

21. Which is the longest mountain range in the world,
that starts in central america and continues to the

tip of south america. In fact, it includes the entire
mountain range along western North America as well.
A) Himalayas B) Alps

C) Andes D) Atlas

22. Which of the following bodies of water is a
saltwater ecosystem?
A) Curie Lake

C) Newton’s pond

B) Einstein Ocean
D) Darwin River

23. What is the World’s largest lake?
A) Lake Superior

B) Caspian Sea

C) Caribbean Sea

D) Mediterranean Sea

24. The bharatpur bird sanctuary gets its water from

a nearby river that originates in Rajasthan and flows
through uttar Pradesh, Madhya Pradesh and then joins
the Yamuna. This river also has India’s longest gharial
sanctuary. Which river?

A) Kosi B) Sutlej

C) Narmada D) Chambal

25. Why are there more species near the equator than
away from it?

A) There’s more land near the equator

B) The weather is less harsh near the equator

C) There are more sunlit days near the equator

D) All of the above

26. The hangul is a species of deer that is named after
hang, a type of chestnut that is found in the region.
They are relatives of the European red deer and they
are found in the part of India closest to central Asia.
Which state are they found in?

A) Punjab

B) Jammu and Kashmir

C) Haryana

D) Rajasthan

128. How do fish survive in artic even though Ice

freezes over the water?

A) Fish have special anti-freeze in their blood

B) Water below ice doesn’t freeze mostly

C) No fish live in there in winter as water freezes
D) None of the above

29. What is the main way by which penguins, polar
bears walruses and many others keep warm?

A) Move away to warmer places

B) Have a layer of fat called blubber

C) Eat more food to keep warm

D) Huddle around each other to keep warm

30. Which of these sea creatures have prominent
tusks, because of which they are hunted?

A) Walruses

B) Elephant Seals

C) Leopard Seals

D) Puffins

31. Which fish are members of the class Asteroidea?
A) Goldfish

B) Lionfish

C) Starfish

D) Butterflyfish

32. Find the odd one out:
A) Nepal

B) India

C) Canada

D) Sri Lanka

33. Find which one word, from the given words,
that cannot be made from the letters of the word:
‘UNCOMMANDED’.

A) MACRON

B) AMEND

C) DEAD

D) COMMAND

” 34. Three years ago Raju was 8 years younger than

Sanju. What will be difference between their ages after
5 years?

A) 8 years

B) 7 years

C) 12 years

D) 15 years



35. If FLOWER is HNQYGT then APPLE is
A) CRRNG
B) BQQMF
C) DSSOG
D) BRROG

Mixed Bag )

36. Entire internet runs on bits of information, stored
as ones and zeroes that are then sent either via
satellites or along cables to computers. A majority
of the information is in fact sent along cables called
optical fibres. Where will you find these cables that
send information often between countries?

A) Under the ocean

B) Over the ocean

C) Under land

D) Above land

37. How many toes do birds have?
A) Two

B) Four

C) Three

D) Five

” 38. If dogs bark and cats meow, what do elephants

do?

A) Trumpet
B) Whimper
Caw

40. What is the distinguishing feature of a Manx Cat?
A) It has no whisker

B) It has no spots

C) It has no tail

D) None of the above

41. The rubber tree comes from which continent?
A) South America

B) Africa

C) North America

D) Asia

42. Forest gardeners are species that change the way
the trees are organised by dispersing seeds far and
wide. Which of these are NOT forest gardeners?

A) Fruit bats

B) Elephants

C) Rhinos

D) Praying mantis

43. The movie Avatar has what are called floating
mountains. There are huge rock faces, extending from
the forest, and these resemble a natural formation in

a certain part of the world. It is located inside a scenic
area called the Wulingyan scenic area. Which country?
A) Japan

B) Thailand

C) China

D) South Korea

44. For the maintenance of a viable population of
tigers in India, the ‘Project Tiger’ was initiated in
A) 1970

B) 1972
C) 1973
D) 1974



SECTION Il Duration: 30 minutes Marks: 20
PICTURE COMPOSITION

Write what the picture is trying to say, a short description is given below.
Marks will only be given for content and original expression and not for style,
vocabulary or handwriting.

TEACHERS ARE REQUESTED TO EXPLAIN THE TOPIC TO JUNIOR CLASS
STUDENTS

We stay in concrete jungles and have no time to go to the wild, but how
often have your wild friends come over to meet you in your balcony, your
backyard or even across the road? Agreed these encounters are not always
pleasant like the leopards being spotted in residential areas, but these are
experiences to remember and learn from. Share with us your views on the
wildlife that exists in urban locales, how this is giving rise to conflicts and
what you think the future holds.

Copyright:

Unauthorised reprint or use of this
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